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CBT Practice test model answers

Financial Performance (FNPF)

Practice assessment 3

Section 1

Task 1.1
[image: image2.png]Complete the standard cost card for the production of one unit of CF25.

|Direct materials 041 ° 09
|pirect lavour 004 8 032
[Fixed overheads 1 04 04
[Total 182
‘The standard quantity of materialfor the production of 19,000 CF25s is [1900 kilograms.

‘The standard cost for the production of 19,000 CF25s is £ [30780





Task 1.2
[image: image3.png](a) Complete the following table:

ot aecttabourvarance 10000 -
Ioecttabour e vartance 20 S
Iovecttabour eiciencyvarance s o

(b) A company purchases 1,500 kilograms of material at a cost of £4,500. The standard cost per kilogram

s £3.25. The total material price variance is.

23754

20254

2025F

2375 F





Task 1.2, continued
[image: image4.png]{c) A company purchases 5,000 litres of material at a cost of £15,000. The budgeted production was 500
units which requires 4,500 litres of material at a total standard cost of £14,400. The standard quantity
of materials for the production of 550 units is

9lires

4,950 ltres

5,000 ltres

5500 ltres






Task 1.3
[image: image5.png](a) Complete the following sentences.

The fixed overhead volume variance is £ [120000

[oeres

The fixed overhead expenditure variance is £[50000

[Fovouranie

(b) Complete the following sentences.

The fixed overhead eficiency variance is £ [15000

[oeres

The fixed overhead capaciy variance is £ [40000

[Fovouranie





Task 1.4
[image: image6.png](a) Drag and drop the correct variance into the correct column and enter the standard cost for actual
production, the total variance and the actual cost for actual production in the appropriate boxes.

Enter minus signs where appropriate.

3udgetediStandard cost for actual production

Variance

|Direct matertals price

882,000

|Direct materials usage

284,000

|Direct labour rate

216,800

|Direct labour eficiency

250,400

[Fixed overhead expenditure

246,000

|Fixed overhead capacity

230800

|Fixed overhead eficiency

258,800

[Total variance

65,600

|Actual cost of actual production

816,400





Task 1.4, continued
[image: image7.png](b) Which of the following statements are correct?

(i) The fixed overhead expenditure variance can be broken down into the fixed overhead capacity
‘and fixed overhead efficiency variance.

(@) The labour efficiency variance and the fixed overhead efficiency variance are both calculated
using the actual labour hours.

(i) The labour efficiency and the fixed overhead efficiency variance are both calculated using the.
‘standard labour hours for actual production and actual labour hours.

() The fixed overhead capacity variance is the difference between the fixed overhead volume and
fixed overhead efficiency variance.





Task 1.5
[image: image8.png](a) Complete the table below by converting the cost per kilogram for each of the months to index
‘numbers using January X2 as the base month. The price per kilogram at January X2 was £9.60.
Round your answers to two decimal places.

lIndex for 7z 10313 10354 103.98

(b) Itis expected that the index number for TZ for November X2 will be 107.25.

‘The expected cost per kilogram for November X2is  £|10.30 totwo decimal places.

(€) The percentage increase in the price of TZ from January X2 to August X2 was [3 95 N





Task 1.6
[image: image9.png]o [Managing Director Subject - [Reason for variances
From: [AaT stugent Date: [December 2009
Direct materials price variance

[The variance was £4,800 favourable. This means thatthe price was lower than expected. This is probably
due to the purchase of a lower quality product, which may resultin more wastage. The price variance is often
linked to the usage variance but can also be effected by other factors like the motivation of the labour force or
e qualty ofthe machines. The variance appears to be good butif the quality caused the usage variance
tnen the decision cost£6,000 of aditional usage.

Direct materials usage variance

[The usage variance was £6,000 adverse whichis a real concer. This means that more material was used
than expected. This appears to supportthe issue with material quality but may also be due to labour or
machinery problems. It appears that there is a strong link between the usage variance and the price variance.

Direct labour rate variance

[The variance was £1,200 favourable which means a lower rate was given than expected due to the pay rise
ot being given. This appears good until you look atthe labour effciency variance. Also the poorly mofivated
staff may be taking less care resutting in the adverse materials variance. The management could have paid
the increase to keep staff motivated or improved supenvision





Task 1.6, continued
[image: image10.png]Direct labour efficiency variance

[This variance is £6,000 adverse which means more hours were used than expected. it appears that staff

were demotivated due to them ot receiving the pay rise. One action which could have been taken was to pay
tne increase, attematively improve supenision

Fixed overhead expenditure variance

[The variance was £6,000 favourable. This means the actual costs were lower than expected which appears
o be a good sign. This appears to be due to the delay in purchasing the new machine which would have.
caused a depreciation charge of £5,000 (£400,000 less £100,000 = £300,000 /60 months = £5,000.
Therefore there was another reason which decreased costs. It may be that the new machine was needed to
improve production and the delay in purchase caused more materials to be used.

Fixed overhead volume variance

[The variance was £1,400 A This means the actual volume was less than expected. This may have been
[caused by the staff having low moral and not working as quickly as expected therefore not being able to
produce to budget. This means that less overhead has been absorbed than expected.





Section 2
Task 2.1
[image: image11.png]Calculate the following performance indicators for Scenario 1 and 2 (give answers to two decimal
places):

IReturn on net assets (RONA) 20 0
|Gross profit margin 2857 2500
[Proft margin 610 960
|Gearing 100 8947
[Fxed producion cost per unit 143 500
|sales price perunit 0 2
|Waterial cost per unit s s
|Labour cost per unit 1200 s





Task 2.2
[image: image12.png](a) The full production cost per unit for Flipis £ [23° andforFlopis € [32 .

(b) Total material requirement for the period is [80,000 Ra ko and the shortfallis v K

() The contribution per unit for Fiipis £ [12 andfor Flopis £ [15

The contribution per unit of imiting factor for Fipis £ [5 andforFopis € [5

(d) The optimal production mix is for the production of ~[10,000 units of Flip and 10,000 units of Flop.





Task 2.3
[image: image13.png]|cash flow 600,000 120,000 120,000 120,000 120,000 20,000
|piscount factor 1 0.909) 0826 0751 0.683 0621
[Present value 600,000 109,080 99,120 90,120 81950 12,420)
INetpresent cost 992,700





[image: image14.png]|Cash flow 130,000 240,000 240,000 240,000 240,000 110,000
|piscount factor 1 0.909) 0826 0751 0.683 0621
[Present value 130,000 218,160 198240 180240 163,920 88,310
[Netpresent cost 958,870

(©) Based onhe calcuatons s bestto e machines.





Task 2.4
[image: image15.png]To:  [Finance Director Subject: [Gross Proft Margins

From: [AAT Student Date:  [December 2011

Sales Price  Sales Volume

[The sales price is £10 under each scenario and therefore has no effect on the margin. The sales volume is
higher under 52 because of the celebrity endorsement An increase in volume of sales would normally
improve the margin as there will normally be fixed costs in the business and therefore these fixed costs will
e spread over more units, The sales volume for S2 is 4xthat of $1 butthere is 3 significant step up in the
fixed costs (£1,000,000 advertising costs).

Materials.

[The materials cost per unitis lower for 2 which will improve the margin. This is because the increased
[volume has resulted in economies of scale (a 10% discount).

Labour

[Cabour cost per unitis £1.60 for both S1and 52 and therefore will have no effect on the margin.





Task 2.4, continued

[image: image16.png]Fixed production costs

[Fixed costs are constantin total therefore as the volume of production increases the fixed cost per unit

reduces from £2 per unitto £0.50 per unit this wil increase the margin for S2. The 4xincrease in volume is
allowing axthe use of the fixed costs (sweating the assets).

Which is the dominant factor and why?

[52 sells four as many units as S1. This has resulted in a discount being received on materials and the,
[spreading of fixed costs. Therefore the dominant factor is the additional sales volume generated under S2.





[image: image17.png](b) Why are the profit margins different?

[The net profit margins are different due to the flow through of the gross profit margin and it could be expected
tnat 52 would have the better net margin. However, there is a very large increase in advertising costs from
£200,000 to £1,000,000. This s due to the celebrity endorsement which has stimulated demand. The
advertising costs have eroded the gross margin but S2's volume of demand more than compensates for this
fixed cost The agministration costs have also increased by four times which may be to cover the additional

work as emand increases. The selling and distribution costs are the same per unit and therefore have no.
effect on the margin.





�Gearing:�


The answer shown in the gearing row of the given model answer is calculated as: �


Debt/Equity x 100% = 100 and 89.47 for Scenario 1 and Scenario 2 respectively.�


However, the gearing may also be calculated as:�


Debt/(Debt plus Equity) = 50 and 47.22 for Scenario 1 and Scenario 2 respectively.





Both approaches are considered valid for the purposes of this assessment and will mark as correct.














